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QUESTION 1

A company has decided to automatically allocate all media to any volume pool on demand. Which two steps must be
performed to meet this requirement? (Select two.) 

A. create volume pools as required, but do not add any volumes to the pools 

B. if a scratch pool exists, delete it and assign the volumes to other pools 

C. create barcode rules to automatically allocate volumes 

D. define a scratch pool and add all of the volumes to it 

E. delete all volume pools prior to adding media 

Correct Answer: AD 

 

QUESTION 2

A Symantec NetBackup 7.0 client and media server are separated by a slow wide area network (WAN) connection.
Which policy attribute should be enabled to minimize the amount of data that travels over the WAN? 

A. compression 

B. allow multiple data streams 

C. limit jobs per policy 

D. enable network throttle 

Correct Answer: A 

 

QUESTION 3

A server\\'s file system is corrupt and a restore is required. The system is being backed up using True Image Restore
("Collect true image restore information with move detection" is enabled on the policy). The most recent backups of this
file system are: - Monday: A full backup - Tuesday: A differential incremental backup - Wednesday: A cumulative
incremental backup - Thursday: A differential incremental backup 

What is the maximum number of backup images that will be used to restore all of the most recent data for this server? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 
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QUESTION 4

A company installed Symantec NetBackup 7.0 on existing Windows 32-bit servers with 2 GB of RAM. When configuring
the Media Server Deduplication Option (MSDP), an error occurs. What should be done to resolve this error? 

A. add additional memory to the Symantec NetBackup servers 

B. uninstall Symantec NetBackup and upgrade the servers to Windows 64-bit 

C. run nbdevconfig to configure the storage servers 

D. cluster the existing Symantec NetBackup servers and reconfigure the MSDP 

Correct Answer: B 

 

QUESTION 5

A collection of all backup data from a client is assembled into a single stream and written to tape or disk. What is this
called? 

A. file metadata 

B. backup policy 

C. catalog .f file 

D. backup image 

Correct Answer: D 
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